EARAROBEEIERT — 2 N— IBISH —F

201453H4H (X) 27EIEMH4H

KM C3— H5%R4m L BRI R
[A&4£] 1% :200,000" ~ 2#%:36,000” ~ 337%&:18,000 ™ . 43&:10,000 57 :6,000 H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< R 7o)t :33. -9-2- . — 7a)l¥ga (M)
Y AEECE-PTES o6 e 1(3_3)2 10-9-2-1 | 40.0 2 ig; ﬁ;ﬁﬁ?{ﬁ‘:
R:gZJF¥LLy b BTTUINERY HET7— L
i — .33, —3-5- . - higfE (EH)
1 : B R R 5 o ! ‘zg; N
R:F4—=TA>NNI s B:7127F4— =Y Ty—L
. . HREF : —4—1— — =xEz (AH
3 g| A 1>am 77 it 4 s 1(.33/?:{)8 3-4-1-2 | 41.1 7 (4_873) ﬁ_’;%j}
x4 avtnyy BEyTR-5— T EAtE
= S o8 | ENEHF 1:34.3 4-5-4-3 | 4.5 — 6 478 | MEEEH (FEl)
sl 6| 717 hy RU—L4L 6.0 3) 42 | B Tr—ZpEVar
R:xF21=gr—X B:O-LIIsyF =ZREAKS
[RTSN o8 | AR 1:34.3 9-10-9-8 |40.6| — 5 506 | KIFMEX ()
5|7/g | RIAFTrH%> 56.0 (F4<) (o) |HbiEs
:IT7IIL BILTFATRIUbE ZRBT 7 —L
S S s 5 | HZAEEX 1:34.7 4-6-7-6 |41.5| — 9 480 | EEHZER (EH)
68|10 F¥aTUNLY 54.0 @ 1/2) o | @ 7177
R:7)—>770-X B:5TU—A~NIL iV 3
SN > 8 | FEMEM 1:34.8 7-7-8-6 | 41.6| — 8 468 | BABE (EA)
7 I R AT - 5.0 (3/4) () |BEAF
LVt A RN E2— B:R— Motohide Aoki
S L= i 6 | NEEF 1:34.9 8-8-10-10 | 41.3 | — 10 | 467 |BEFIEXR (ER)
gl7|7|AT—RUNILT 0 (7€) (43) |1 A-LPNZ bEE
L:77V—-F B:AHT7z337 2R KG
P 4t 7 | BPE 1:34.9 1-1-2-4 | 42.4| - 4 470 | BREX ()
95|57 hET 56.0 (7€) Lo |EERT
AR v g —0 B:557F HET77— L
= # o5 | WA 1:34.9 2-2-6-9 |42.2| — 3 461 | FUBTERS (FEHH)
10011 1 7ZE ‘ 56.0 (NF) +1) KigR—
L:—iA7Oo— B:UT—KF7PI1E> B85
® 1—F—@EBIERL
1T=7r= 5,1,9,(6,10),3,2,7,8,4
2a=5"= 5,1,3,9,6,10,2,7,4,8
Ja=5= 9, (4,5),6,3,1,10,2,8,7
43—+ — 4,9,6,5,3,(2,10),8,1,7
[ N5
B 4 360M 714K 3-4 280 e E 3-4 570M JEE 3-4-9 2,240
B B 4 140M 4-9 810M B = 3-4 600 JEE 4-3-9 6,390
3 130M 3-9 960M B H 4-3 1,040/
9 380H

ABICOVWTRDTEEERROODE. TR LIV,




